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We know only if it was in his hand — 1792 RPK %% PN

OVERVIEW

The X3 cites a Xn»72, that X¥nn X¥17 teaches us that not only is a 213 liable (for
59)) if the stolen item is in his hand but even if it is in his 177317 ,333 or 19°97p. Our
mooin clarifies what we would have though without the Xxnn Xxni, and what the
RXn XX teaches us.
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The explanation of 17°2 X?X °7 X', is that we may have thought that a 213 is liable

only if he actually stole it with his hand, but how do we know regarding -
- 1999991 18N 139 NI 72N Y2 HY 1NN Z9Ppna DYDY 1019 19980 1)

Y9277 133, meaning how do we know that he is liable in a case where he struck the
animal with a stick and it went from his friend’s 921 (where he struck it), into the

thief’s 129291 Y9937 ax. This is what X¥»n X¥n7 teaches that in this case he is also liable,
since he acquires it when it enters his 7%77.

mooIn explains the need for this inclusion:’
- “ynany OGN NNP I8NT IIIINYNRD I8N 991290 TPIVYIN)

And it was necessary to include his liability if it ends up in his 9x%m, to inform us

that one’s 931 acquires the items in the %7, for the owner, even to his detriment —
- AP )Y YPUN KP 19%3Y 1319 MY PN XOIT NYYYI “Ndn N7

For you should not assume that the 7%17 is comparable to an agent, and
regarding agents the rule is 77°2¥ 9275 MW PR, therefore we have the M12°7 of X¥»7
X¥1n to inform us that he acquires the stolen item to his detriment -

' The term w11°> negates an alternate and more literal interpretation. 172 XX *2 PX, could mean that perhaps one is
liable for 995 only if we catch the thief, with the stolen item in his hand, and X¥»n X¥»71 teaches us that even if we do
not find it in his hand but rather on his property he is also liable. NM®0In negates this interpretation because it
obviously makes no difference where the item is found, whether in his hand or in his possession; in fact he is liable
even if the item is destroyed and not found at all. (Additionally, 17°2 means [not only his hand but also] in his
possession.)
? See “Thinking it over’ # 1.
® The X3 in R,7¥ 710" derives from the 105 of 77°2 101 (in X,72 [X¥N] 0127 regarding a v)) that the 7¥17 of a person is
7P for him. Why do we need Xx»n Xxni (see the X3 there in 1v°) where it asks this question and offers a different
answer [see 72N "w1en XX # 17]).
* yn21m> here means that it is to his detriment since he is transgressing an 71°2y. But not in the usual sense that he
does not want it, for here he definitely wants to steal the item.
> moon is explaining why I would think that 9%n is not 7P since it is W2w72; seemingly why should that be a
hindrance in the 7°3p of 71X (especially since we have a p109 that 7xn is included in 17°).
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As the X3 explains in the first P22 of »''2 noon that there is a 7992w 2275 oYW -

:OWI979 78NN N9 199 XA RAPN 92 INY NYYWT NN

in a situation where the %2 cannot be liable (as in the case of a 7%¥m). And it is
evident from there as I have explained it.

SUMMARY

The inclusion of 121 17°XmM 1) from XX72N XX¥»7 1s in a case where he hit the stolen
animal and it went into his 7¥1. The words X¥nn X¥n»7 teach us that the 7% is not
considered a 77°2y 1272 YW since it is not a X21°7 2.

THINKING IT OVER

1. MpoIN states that 21 1°%M 23 is in a case where 191 Ypna nwon.® Seemingly
opna awon is the equivalent of 72°wn ]’Jp,g so why do we need the %11 71p at all
since he was 7 the 72°13 through >wn?!'

2. There is a dispute whether *X27nX MIT*HW W 9¥A or "X 7> own 7gn.' When
Moo explains that X¥nn XX is necessary, for otherwise there would be the issue
of 772y 727> mhw PR, is this only according to the one who maintains Dwn q%n
X2INX MPPw, or even according to the one who maintains >X270X 7 DWwn I8
(where there seemingly is no issue of mmbw)?"

3. mooIn states we need the RXx¥nn X¥ni that the 7¥n is 71, even 772y 1275.
Seemingly we need the X¥nn X¥n71 to teach us that a 9% is 72y in any event!'

® When the m>w is (also) liable for the 772y as the nown is (for instance he appointed someone to steal for him), the
rule is 7772y 7272 O PR and the mYw is 21 and the nPwn is Mwd (for we say PYMIW 1 127 7707 02T 277 *127);
however in this case where the m°%w (the %) cannot possible be liable, then we say 772y 1272 M2 @ and the nown
(the 213) is 2>r1.
7 The X3 there asks according to the 7" that *X27nX MM9w D1 137, how can he explain this XN of X¥»n X7,
for then the 7311 will be a ¥"75w. The X3 answers that the 1% is not a ¥"79W since it is not a X211 72. It is however
evident from the X723 that the *X27nR Mow Dwn % 7" derives xn 1P from X¥nn R¥H7 (otherwise what is the
whole discussion about!); but since 1% is not a 821’11 72 there is no issue of ¥"79WX
¥ See footnote # 2.
o See 2,20 w17°P where the Xn* 72 states, 1199 AnXM 5?&3 TWIONW W DY 1DWwna TXD.
19 See w"w and TN WwIDH XN # 8-11.
' See 2,2 n"a.
2 See the text by footnote # 5.
1 See *X27nx 7 own 1% 77 8,20 2" o,
' See TN won XN # 14.
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